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-4 Pre-Calculus 12 . 7
: Ch.6 Test - Trigonometry (Part 1I)

Practice Test
& 1. Solve over the set of real numbers. (1 mark) - C - o o
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For #4 and #5, solve 0 <x <2,
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For #6 and #7
1) Solve 0 £ x < 27. {2 marks)
ii) Also give the general form. (1 mark)
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9. Find the exact value of sec(105°). (3 marks) ' '
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]1. If sinx = —
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~in Quadrant 11, then find sin2x.°Give an exact answer usmg fractmns (3 marks)
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13. Prove the ldentity colx
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14. So]ve the equation, giving exact values for X, where 0 <x < 27. (4 marks) Also give the general solution for

the equation. (1 mark) :
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15. Prove the identity:
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16. Prove the identity: coszx:W (Smarks) - -
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